





3. TEFx=12135 252 Ushlie BAolA Zag Ath2?

o

@ 1000x — x @ 1000x — 10x ® 100x — 10x

@ 10000x — 100x ® 10000x — 10x



9

rr

4. 0037 =37x[ |olM[ |stel gure &ohas

@ 0.001 @ 0.010 ® 0.0i1 @ o.101 ® 0.001



olJ

olJ
o8

olig
Nfo

ojn

@ a=01,b=020°"c=0.12 %X a 2} b Ato]of it}



6. o= <H7]>A Ftasrt He Ae BF 212W?

£
@ 3.65 © 0.38888
© 0.325 ® g
@ 1.010010001 --- @ %
0606 ONONG) ® &, 0,0

®Q.@ ® ©, e 6



-
T
=

o
Ko

op

ol
o

@ 5 ® 6 @ 7 ® 8

D 4



@ 090

® 9090



S A4 Uerd o, 100 HA 2] 9] 59

@ 3 ® 4 @ 5

® 6



10.

=182 & 242 tehi7] 918 73

@D 10x—-x @ 100x — x

@ 100x — 10x ® 1000x — 10x



®O-0-0-6 ®@090-©®-0-0
®0-0-@-0 ®90-06-0-6
®0-8-0-06



@ 0.2 ® 0.3 @ 0.4 ® 0.5

@ o0.i



@ 9 @ 18 @ 90 ® 99

® 3



olJ
™
o

"

T
No

oln

ol

@ 5 ® 6 @7 ® 8

O 4



el o, o o] 327

5

27t = A

® 189

@ 21 ® 63 @ 108

@9



or
i
9|

ofig

1= BAE 25 9A 1916 o] =it

O

@ 3 ® 24 @ 083 ® 83

@ 3



el
BN

JX;O
Nfo
<

o
<
ojn

® 2.8

0.9

@

@ 4.09

@ 21

@ 0.9



18.

Sad v = 11257 & B4 vehd o, 7bg Beja AAA e

® 10x-x @ 100x — x @ 1000x — 10x

@ 10000x — 10x ® 10000x — 100x



@ 3 ® 4 @ 5 ® 6

O 2



20.

PS4 B SBLFE e, Bledolt BA1E R HolA
A






of grol #e?

O 60 @ 62 ® 65 @ 68 ® 70



O
=

S, a+b 9 3t

® 130

@ 31 ® 60 @ 65

D 19



24.

1.6=ax01 ¥ o a2t0.26 2 I

125 145 175
OF @4 ©

bt o, ab 9] 3H2?
225 245
- O



